MAC 2313 - Period: _____ Name: KE Y
Quiz 7

April 11, 2019

Show your work to earn full credit.
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1. Determine if F = < _Y Z

ot ; + = 2z lny> is conservative. If F is conservative, find a
representative function f such that F = V. (8 points)
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2. Using vector field # from Problem 1, evaluate j F - dF for each given C. (5 points)
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Problem References:
1 & 2, MAC2313 L29 NYTT Problem #1 and L29 HW Problem #186.

Problem Answers:
1. F couservative with = -'11 +z2lny

2. (i) C is closed since start and endpoint {e.e-"f-'z. %:l. 8o [ F-df=0 (i) fcﬁod:’: fle,e,2e) — f(1,1,2) = 13e® — §.



